oy : i : Ao Marks 75‘ \
Std:1\0 : y : :.‘: , _Tlme : 309 hl'

Ir-Choose he correr;t answer“:.x G 12x‘l 12

1 ,One kllogram force equalsto .
: dyne "/~ B)9.8x10°N
2 he eye defect'- Presbyopia’ Can be corrected- b i

e ohvex lens ) concave’lens. ¢} convex mirror dl Blfocal I|nese

value ofAvogadro number 2% a)623x10 el = e Y

, b) 6:023x10%/mol : - )6023x1023/mol -d).B. 028x1023!mol

G4 Sl unrt o,fresetance g "“a).-mho - b)JouIe ~6); ohm d) ohm meter

“The gram moleoularmass of oxygen molecule (LIS e .

98x1o4dyne ‘; )980 dyne '- '

"-_i.)16g el obRIgg T D o) 3G d)179 Py B
5 isan |mportant metal to form amalgam a) Ag b)Hg c) Mg ¢ d)Al :
Dellquescence isduetc ..o.... - 'a)Strong affinity to water
b) Less afflnlty to water - ) strong hatred to water. d) inertness to water

-, ,8'. Kreb's cycle takes place in >........a) Chloroplast - )mltochondnal matrlx

".c)stemata d) inher mltochondnal membrane o

; -_'-9 l\llammals are’. -~ animals '

A a) cold blooded b) warm blooded c) p0|l<|lotherm|c d) aIl the above i
Rt 10 Vomltlng centra'is located i ... :
' a) medulla oblongata- b)stomach )cerebrum " )hypothalamus
o S Syngamy- results in‘the formation of ........ :
a)zoospores +hy ‘conidia’ . - - )zygote .d) chlomydospores L

et ;12 Okasaki fragm“ it are joined together by ..
‘ ) Hellcase by DNA polymerase c) DNA pnmer d) DNA I|gase
PART = Il - o
ll Answer any T questlons Questlon no 22 compulsory i_ g 7x2 14

; 13 True or False. If false correct it.: W
Ay Increase in the. convergrng power of eye lens cauge 'hypermetropla Sl
'-2. The'convex lens always gives small virtual image.: 4
s 14 Distinguish between ideal gas and realgas? . =~ . -~ b
. -15.'Name any two. dewces whrch are worklng on the heatlng effect of the electrrc
‘2 gurrent?, s o : :
"' 16, Find,the percentage ofnltrogen |n ammonla’? g
17. Match the following : -

4. Galvanisation i 0 L= '_ ‘Noble gas elements :_t‘ g
< 2, Calcinations Wy el et coating with ‘zn’y

3. Dentalfiling =~ - = — - Heatinginihe absence ofalr

*'4,Group 18 elements - Co= o silver - tine amalgam.

- 18. Viny dissolves 50y of sugar in 250 mal-of- hot water-sarath dlssolves 509 of
" ‘same sugar in 250ml of cold water Who W|Il get faster dlssolutlon offsugar’? ;

- and'why? '
*' 19.Where do.the light dependent reactlon and the Calvrn cycle oceur in the

o chloroplast’? ]
.- '20. When any dry plant material is: kept in water they swell up Name and def|ne

the; phehomenon anOlved in thls change

: Std: 10 S.cicncc )



£ :-.'21:‘ erte the physro'ogrcat effects.o -
..",\22 "Identlf the parts A,;B ¢ and D

: _'-tll Answer any7 uestro ue No. 32, co‘mP so ;
23 Whatare: thet{ﬂbesot mertra'? @ an example: or,earl‘!rtyp
24, .DIStIn?UISh between linear, Arial a supernciale' an
25 Calculate the ‘humber-of molg i bl ;
WET gofAl - '-'-||)-1-.-5_1 1]
26 Als a silvery thte metal;
gfrom B at-800°c,.the all
o ._b The aguatic ani
2T a) Dr erentrat

[ o |

PART

,IV Answer all the questrons each uestron i e’ven :marks.- Draw
- . diagram where necessa i ; 7x3.—21
33 a) hat are the advanta% eL

ulb JList any frve pr ertres of light. -

b} List the merits of LED fo J
b The eyes. of the:noctumal birds fikke ‘owla
s large ﬁuplr How.does it helpthem? = .
‘ 34 a) Give the salient features, of “Modern atomlc theor%f|
g b) Calcium carbonate.is decomposed on heatlng it
“ 0 CaCOy= Ca0+CO, ‘
) How many -moles of calcrum carbonate are mvolved in this reaction? . :
T u) Calculat the gram molecular mass of calcrum carbonate involved in this
“regction, .
iii) How many moles of COQ are there in'this equat on? - (or)
. a)What'is rust? Give the equation for formation of rust, .
b} In what way hygroscopic stbstances differ from dellquescent substances
. 35 a) Differentiate between systole and dlastole ; _
' Explaln the conduction of heart beat. ;
)Whrch hormene requires icdine for its, formatron? What will happen |f lntake
» -ofiodine in'our diet is low? (or
a) With a neat labeled diagram’ describe the parts of a t¥prcal angios| erm avule?
: 3Why are famlly planmng methods not adopted by all the people of our country’P

7 ’ v
0 Ty #H*H**w*

arge cornea and a.

& foIIoWlng reactron ;

fl

s e e e i o 8 e SRR




RRIYALUR ( DISTRICT),

QUARTERLY EXPMINATION — R202Z
SCIENCE KEY ANSWER.
- PART-4..

quioéd\’ne -

Bt focal lense .

ohm.

c
B

o *gt%na a_pp,.,mta ato wa,m

G e

: "'f‘MLto aBOncJ nai rm.tr:oo

Tolwl o af ¥ s

| .-M eaLu," a @bwnaaf&

ZH 8@‘[22

A
g,

. |8 warm blooded.
A
C
B

AR

: -.{- DNR !tga,s'e-a'




—

Y

Increasemthe convergmg power of eye ehs cause fhypermetropla ><..><
Ans._False B ERm Rt e

aliays gives small virtual image. -

“4) * Distinguish between ideal gas and real gas. %36

Ideal Gases : § e Real Gases
1. | The atoms or molecules of agas do | 1./ The molecules or atoms ofa gases 1nteract A
not interact witli each other. . | |- | with each other. s
| 2. | Atlow pressure orhigh - . | Z]At .very_high temperatu_re or Jow pressure, a
temperature the interatomic or = .[,- | real gas behaves as awideal gas hecause of
mtermoleculal forces of attractwn " | - | the lack of inter atomic or mtermolecular
’; | |are waak - : - | forge of attraction.

cmrent
L '_ :El :

) 2 Electrlch"on ]

O Fmd the percentage of nltrogen in ammoma

Sulutmn L
Molar ma.ss uf NH3 = (1 % atomic mass of mtrogen)

' *—(1><14)+(3><1)
Lo =1443 £ e

il

i, Ea -, e T AT
] LT i 5w PR




2. G’Taitfani@dﬁoh — efDlatfﬂg’ wﬁ'H;’ .z‘_h‘

R Calcéinglibn — Meabing 2o the afbsanﬁL of air
2. Dentud a{i’i”r"ng ' — SIEVQFHtm md%mm‘
4’" @muq) 48 Qremnn{:? — Noble 5@3 ejamnn’rS-

~ Vinu dlssolves SOg of sugar in 2501111 of hot water Sarath dlSSOIVBS 50g of -

same sugar rn 250m! of cold wate1 Whu w:ll get faster drssolutwn of sugar7 :
and Why7 ' v . g%

; ] s 3, ; [PTA vr) o
Ans: Vinu Wlll get a faster dlssolutmn of sugar -
Reason: - ' Ey B ot = N
Lo Solublhty of a solld solute in’ a hquld salvent mcreases w1th the lncrease
- in temperature g o =

2_ ' Hence a greater amount of sugal w111 dlssnlve n warm water than in -
‘ ___:coldwater Wk o

O‘Where do the Ii

dep eiir_'iéht‘ ;
chloro‘p] ast ;

¥

ac _’bn_':aﬁditHE;-Cal-Vin cyc,le Qecii-r in the

41, - Thelig »dependen reactron takes place in the thylakord membranes

; (grana] 0
2 L Thé,Calyin

e

.When any dry plant mater1a1 is kept in water, they sweII up Name and define

" the. phenomenon involved in this change. T

1. “ The phenomenon lnvolved m the glven demonstramn is rmblblnon

2. "‘Imblbmon is a type of dlffuswn 1n whlch a solld absorhs water and gets
W, swe]led up. o : :

E g; Absorptlon of water by the. seeds



| Write the physiolo gical effe::ts of glbberellms :

5, 1 Appllcabon of g[bberellms on p]ants stlmulate exrraordmary elongatzon of mternndes -
A E Treatment of rosette plants with gibbereliing. mduce sudden shoot elongatlon foHowec
5] ﬂnwermg This isicalled boltmg

i

o :.‘Glbb?rellmsll‘:romote the productmn of male ﬂowars i monoecwus p]ants (Cucurbzfs}
4 -+ Gibbereliing lreak dormancy ofpowto tubers ; s

Follicle cells of
corona radlata

Hudays

Cytoplasm

@
g Deﬁmtmn e - . L ; R

The mherent property uf a body to re515t any change in 1t5 stite of restor the.

* state'of uniforii motion, unless itis mﬂuenced upcm by an extemai Ly

‘unbalanced force, is; known as inertia. - 2 B

'AInertla is ofthree types, ‘i‘ o ot

4 Inernaafrest £ L " il i B "l g

‘o d]rectwn : s o,
B 7 Examlﬂe Makmg 4 sharp turn WhllE clrwmg a t:ar we tencl tolean 51demy %




P e Idga!Gaées e i ReaiGééeS - —’ @

1. | The atdms or moleciiles of a g;ié do’ | L The; molecules or “atorms ofa Bast-.'es mteract
nulmi.erac‘t w1th each mhcl e w1th each other .

2, At low pressure ar hlgh : _
o temperature the iriter; atormc or leal gas behaves asan‘ideal gas because of
intermolecular forces of attraction thelack of inter-atomic or mtermo[ecular _ J

are weak e o attractlon

@‘ Calculate the number of moles in (PTA-V]'
(1) 27 gofAl

Massof the element .
Atomic mass of the element - -

Nufnber of mole =

Number of molecules of NH Cl
AvogadroNumber - ', :
'51'% 107 R
6,023 %10%

e =025molesofNH4Cl

O “Alsa Sllvery whlte metal. A combines with 0z to fon m B at U(]U“C Lhc al[oy of
@ ‘Aisused in maling the _au;'craft FindAandB. CeTA-)

Ans-

, 1. " A- s11verywh:temetal Alumlmum
© 441+30,-800C , B0 410,
A

@ 2 B :-Alumiﬂi“m oxide ‘

TSR AGe T v VIR UL CAE SD[V(:‘nt
The aquatic animals Ilve more in-cold region. Why? (PTA-V) -
Aquatic animals live more in cold 11 egmns because s

1. .

More amount of dissolved oxygen is present in thes water of cold regions.
2. The so]ublhl'y of 0Xygen in wateris.more at low. temperatures

TR s G A A



@ _ _Aerlobic‘.:‘md Anaier'bbic.reépiratibn.l ><>< (GMQ 201-9.5‘}319 -21% 2-2]

S AetbbicReépifatiOn-.

| 1| respiration that takes-place w1th the
|* \help.of oxygen. ; ‘

-Aerobic resp1rat10n isa type of ce]lular | ' ‘
A Anaerohm resplratlon takes place

i Witlmut oxygen.

SetmOs 4

- B . i
Anaerobic Re;pi;;;ﬁ '

w1th Oz mto carbon d1 o !
and energy. It ocelrts. mosttln plants
& anlmais . :

' Gliicoseds converted into ethanol in
“!|'plants or lactate in some bacteria. ‘

“

A ] CsHizOﬁ —*’ZCOz + 2C2HsOH + Energy

(ATP)

- ~Location

1. Bf.aii; L :

.- -cranial cavity

. Kjdney S D

iy -3abt_lc::)mina.l cavity

Hear"g L

‘mediastinum

eniilosed in thoragic cavity

s,

' Transplratmn- L B

Transp1rat1on is. the evaporatlon of water in plants throucrh stomata in

e A the leaves

S Importance of Transplratlon

' 1 Creates transplratmnal pull ; for transpcn t of water

Supphes water for photosynthems

Keeps the. cells turg:d hence, mamtams thelr shape

What is transplratmn"" lee the Importance of transpnratlon. -(SEP-2

Transports mmerals from sml to all parts of the plant i ,;. 3

2.
3

: 4 Cools the surface of tha leaves by. evaporat:on N
5




® Classrfy neurons based on 1ts structure U (sEp- 2020)

1..

; Locatlon. :

. F ound in early ernbryos but not’ 1n
- adult. :

) Blpolarneurons : i

Neurons are classnf ed 1nto three pes based on ‘chelr structure. They are,

Unlpo]ar neurons

Cn Only one nerve process
© arises from the cyton Wthh
. acts as both: axon and
- Dendron :

8 ._Unipolar_{A]. Bipolar (B) and multipolar (C) neurons

- The cyton glves rise to two nerve’ proc.‘esses of which one acts as an axon while

another asaDendron.

Location s ' 5
Found inretina of eye and olfactory epithelium of nasal chambers

—— e - Lrutugy

Found‘:ln cerebral-cortemoﬁ brain.

@e

Wh

@

ataré chemxcal messengers7

The chemical messengers are known as hormones wlnch are produced by

1.
endocrine glands.
: 2: Physiological processes such as dlgestmn, metab_ohsm growth development
and reproduction are controlled by hormones
Eg: Growthhormone —
Deﬁne trlple fusmn, ) TR ><>< ->< [GMQ 2019, MAY - 22)
Lo Dunng double fertlhzatlon one sperm fuses W1th the egg and forms a diploid
' zygote o Lol S
"2, Theother sperm fuses w1th the secondary nualeus to form the primary

-endosperm nucleus Wthh 1s trlplmd in nature “This is called triple fusion.




g : N:t:rogennus b

2 7 Thenuclenn

" g4

- : o o Bjo!agy 15.
How is the smucture of DNA orga|1lsed7 ‘What is the hmlﬂguzal Slgrﬁﬁcanu_ of
-, DAz : [ss.p 2020)«
15 ‘mmnn}eeuleconﬂsts of twa, polynucleutlde
v éhains o favey

"These chams form a duub le he 1% structura .

arelinked to sugar

= phosphate units \)uhlch form the backhune of the
DNA

Hycll ogen bcmds between the nItragénuus Imses
Nake fhe DNA mulecule stable.’ -

Each tutnict the dnuble hilixis 34’A“‘ (3 4-nm)
) here are tenbase pzm s ina complete tura.

e in 2 hielix are| ned tngerher by
phosphodlester bonds.’ :

4, Three remstors “of 1.0 2 Qand 4 Q are
-connected in parallel in a cireait. Ifa 10
‘res1stor ‘draws a ‘current of 1°A, ﬁnd He
current through the other two remgto_rs‘.‘

Solution‘:; )
Ri=10, Ry= 23, R;=

Q 'Cu-rr_ént"ll = “1 A

The: potent[al dliference across-the 1 Q résistor
=1 Rl— Ixl=1V .

Smce the remstors ate connected in parallel
in the circuit, the same potential dlfference wﬂl
exist across the other res:stors also.

¢

T
:
I




ART—-IV 1
@. What are the advantages of LIZD ™ over the normal TV" [P’I‘A VI)

@ -'"It has brlghter plcture quahty

thmnerms:ze e L

It ig more rellable

; ofLED bulh

. L As there {snd ﬁlament there | is g ]oss of energym the form ot heaf, Tt '
’ -5 cooler thdﬂ the mcantlescent bulb : ol W

- 2. 1n companson Wlth the ﬂuorescent hght it has 51gmﬁcantly low power :
il '_requlrement ' ; : _ :

RS .It is nut harmful to the enwrcmment

:A w1de range of colouts is poss;lble here

@ LlSt any five propertles of ligllt ><-
Propertles of llght e

1. nghtls" fcrm ofenergy

It always traveIs alcmfr a stralght lme e

: 1 ik large cnrnea and alarge pupil, these
p feaLures mcreasethe eld. of vision and an mcrease retinal surface and help
them to co]]ect more, amblent Lght durmg mght




Give the salient features of "Modern EltOHl]C theory' 3>
Sallent features of Modern atomic thecry (SEP 20 822, PTA -V)

1. An atom is no 10nger mdmmble [after tHe dlscovery of the electron,
proton and neu’won} o E
i The mass of an atom can be converted mto energy (E mcz)
‘. 3 ' 'l:Atom is the sma]lest pamcle that takes part 1n a chermcal reactlon
Ca

Atnms of the same element ma

y have different et_qmlc_mass. [Idls_coyety‘
' Aoflsotopes 17C13§, 17(:137] g ol mha oin WERAR 5 e e

- Atomsof d1fferent elements may h"c_i_'ue same r'ifomic"mélsses. (discove’_l'y of
; Isobars lsArfm, zoCa‘w] o By P i

s of one element can be transmuted mto atoms of other elements

othe w_ords atom ismo longer 1ndestruct1ble [d1scovery of artlflc:lal
tr nsmutatmn] ' : %

7_' ; ways combme ina snnp]e whole number ratlo

. -Calclum arbonate is decomposed on heatmg in the fo]lgw]ng reactmn
CaCD:, ——> CaO + C0; - ;
“Ans; CaCO ~—>CaO+CO

o How many moles of Calmum carhonate are mvolved in thls reacﬁon7
: Ans 1 mele

Calculate the gram moleculm mass of calcmm calbonate mvolved in this
reactlon sgfln o : .

Molecular mass of CaCOa i

“—-100g/mole ;.
How m:my moles of COz are t:here in tlns equatmn?
Ans Onemole efCOz SRR LY £ %



@ . Differentiate between systole and dlastolc l:.xplam the conductlon ‘of heart

. (oR) et e o =
_ Whatlsl’ust'-' Gwethe equatmn for tormatmn ofrust >< e .
Rust: L s ‘ [PTA v SEP 2021) -

L. 'When iron is expused to mmst alr 1t forms a layer of brnwn hydrated femc
e o oxlde on its surface.’

Va2, _"'This compound is known as rust and. the phenomenon of for'matlou ofrust is -

known as rustmg

3 4Fe # 301+XH20r—> 258203'){1'120
'Q £ L, ) “rust

——. BV AN

In whatway hygroscoplc subst:mces d:ffer from deliquescent subst.mces
Hygrnscopic substances

Deliquescences subsLances

A, W'hen exposed to the atmosphere at |1
| ordinary tetperature, they alisorh | -
moisture and do not dlssolve :

| When exposed I;o the,atmo'spherlc airat
ordinary temperature, they absorb
mojsture and dissolve.

2 They dé not change its physmal o 2. They change their phy31 ca.l state on-
. | statéon expnsure to air. . |" !exposure to- alr

|3 They ma};r be amorphous sollds or |3, ‘Tht.y are crystaﬂme solids,
4 liquids. : 1

k3 T hp},r dlssolve in water farmmg saturated
| solutions. 5

|4 Théy_arc'ué_c‘éﬁé dry"ing a_geh_:

5 E g Caustlcsoda Caushcpotagh

heat,

Systolq Dlastele . . .

Systole is the contraction phaser

. | Diastole s the rilaxation phase of the heart.
of the heart. e 3

-

The bleod pressure of 80 mm is cons:dered
normal in diastclic pressure

The blaod pressure of 120 mm is
cansidered normal in systolic
preséure. -

é, it consists of bwo events, . 3. | It consists of two events, .
“ 1. Atrial systole : "1 L Adrial diastole
2, Ventricular systole 2. - Ventricular diastole -

Initiation and conduction of Hcart;heat:’
1. ‘Thehuman heartis myogemc in nature.

2. . Centractionis 1n1uated by a specialized portmn of the heart muscle, the sine -
atrial (S4) node which is situated in the wall of the right atrivin near the
.. openmg ﬂf the superior vena cava.

3. TheSA node is broader at the top and tapering below and itis made up ofthm )

’ fibres. .. ; )

4 Sino- atrial node acts asthe pacemaker of the heart agitis capable of
initiating Jmpulse which can stimulate the heart muscIes to contract

|



]

Which hormune requires jodine for its formauon" What will hapllen if intake

" of ioding in our rhet]s low"

T
' '2

T]"yrmd hmmﬂne requtres fodine. for its fmmatmn

lfmtake ofmdme in our dlBtIS Iow 1t leads fo the enlargement of thyroid
gland Wthh protrudes asa _rked swelling in the neck and is called as

‘@ Wli:h a neat ldh elled dm

5

= (6R).

gram descrlbe the pa its of a typical angwsp ermic’

:ovule,. E S [PTAS V)
: Structure of the ovale: - :
: 1‘_ The main part ofthe mmle is the nucellus whxch is enclosed by t’WO
ey mtegumems 1eavmg an opemng cal ed as mlcropy]e
T2 ‘The ovu]e is attachecl to the uvaly wail bya .sta]k }mown as fumculus )
A3 ‘Chalaza is the basal part
4,

@ Why are fanuly plannmg methodsnat adopted hy all the peop]e Df our

~The embryo sac contams seven cells and Lhe ei
. nucellus ey

ght.h nuclei [ocatad within the

_Ehnlnin.
Nugelts s LT
2 Amipng}al

B -Secnnd'n-y g
fuciens- ‘

- Egg’
= Synergids’

Funicle

: Strach f‘an Ovule
clIS at the mlLrophylar end form the egg apparalus

country” .

1. Lack of awareness: amonwthe peqple of our -"ountryls the foremost reason for
not adoptmn farnﬂy planmng

ok Hnrmonal method‘: _

It creates hormonal 1mbalan«_:e" and can cause side effects to our body.

3. -, Intra- Uterine Devices:

. Devices ].il-<é Lippe’s Loopand copper - T causes irritation in the uterus,

‘Surgical methods:

These cause mfect:ons and uther problems if not performed propeﬂy

S0 famlly plannmg methods are nat adopted byall the peeple of our country.
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